AT AN BLIERETRIBEFERS 25D ATZBELL FEHa1%)
] 114.06.23 TEEHHED
EH N
NI EE IR E[E ST
NCEE N N 23O BB (173)
N W= 5 4 ] 25-27 HEARE
OO0 23BEIRB S [ (1T3) 26 B EmE- NS FHNEE
B oo o 26-30 0 Rk = 27 81200 BEEE e B EEEEEs
22|23 |24 |25|26|27| 282781200134 58 ewHEmEags
WETE - EEkIRRENa 30H1L00BAREEE - hER - BREBIEE
30EEIRERES . 11.008AREES 14BFEEE120E 0102 /EEE
BEBBHI[E] LS EIEaEE[t 02-04 AN BH BIF B4 AT ETERE
01-03 B RRFEBERIIT A SHAE S 45 020 BB EHIEE
01ESHEIA - SBEREEE(E— 2 [ 09:0088 5157517 [|04 8 5 — — B HAm m sz st 1
o IF B ch 3 BT B2 B 22 25 B [ 6
O 04B09:00BRIEE S —H D RIEH[H] - 12008 — _ BHEHE -
293012345 AR BT E L [5E]
W00-11 AMEMEAS-TENEoHESEF ] 0SEETEERRD BN - BB R
W10-21 AME BN B A mR ESERE ] WAAGES— B_RENEE  BRIBHARKLE
08 A& EH BN « BheE ot B 100 ELE S 3 A B AR 5 (E)
I0EELESAAS  BEEE  B8KE  —mErEteE|118 s ——BEgsERER
473 (05)
11-12 B AEHRIIER
11EATE— ARG E[E] £55E2 BB ES (D) AL
6| 789101112 AIEEBITREE[E]
W4 18O SR A RERRE(H] SO EREBam VEEEE ol e A
W16- 200 %55E 2 ERABES (V) EARE[E] 15H08:00 882 5 - 12:00 4 SNEEE S . 19:008 1L H N EEE S
13 OB BEREL HEg I O BN
14 0 B B IS IR A BN (14%5T) - 7E BB 16HE—_BE@ENS1IR - BRIEIR)
g 15008:008 2 £ [2T] - AThE— _BESSERERH] 1710008455883
2 15 5 PO 088 A B B A 5] 18H12:00EEEELNE 5— _ BEFEERMIBEI  ASHE
17HE—_®% 1000B4E88H(/8) 13:30-1500 80| mE  EB7/ANERES AR
(BpZ= ) B
18 B 12:00 BB ER KR A4 1F A
18-21 AE— - B _HEREER
© @O 18-23 AN B AR MEFBHEZE 19 A) (5]
13 (1415|1617 |18 | 19 |19F14E B 1M R EERBEEESEE T SE R
21AEENERE _BHRE 11008 IR Ea e BRI EZ 5] |21810:00-12:00 F & & i & & 68 5 A 5 5
22 BB ISR BER 23HREME2REE
3 B I S — SR 25F09:00/HE R EH - 1000BN=RE HHSH  HERERT
® 25 H A ER S A R A IF B [2] BERERERRIEML
20(21|22|23|24|25]|26|25-29H8H Em® B 1ET EEF[HH]
W20-01 QMBS S B e ST 20-01AME _ =55/ B A BAREES DSk
W30-31 8B ERIENBE[H] 3EASIABREES I BIEBNEES e SRS
01-058 (R &6l B) S8 E EwiE M 7] O1AERWM FTEYEREDEREE 110082 HHES RIS
28 A B B IT4E1E — 1B R 3 s
29 HABA RIS R ES A5
29F BB T4 18 — 1B IREIE IS (LA R AT)
31ARER G REE L
27128129(30(31| 1 | 2 [01-048AEHRIBIER (KBS 5B T EREE]
WO4E 11005 R HRe (] 04 15ABRENE EERE L5
WO7E A 588 SRR EN[H 0SAS—HEHITAL
WOSE8E SWIEIE L7 06-07 BT IR E B (5) (1]
06-07 BH A REE B (5) 1] 07 BT — EE IR B
3456|789 |o7BmREEsRmErE]
W12 2902 ERHEIEPEE B ENEeeneE I REE X
130 A2 BB ISHE _SERREARKE -SRI ELEE WERBER) £6
15H08:00-12:00 R 2R S — A IEPBRB X[ - 5 _SK| #BEZRREMNLEEE[E]
RE(EREL SRENEREL/2))  £HHBE L REMN
10(11/12|13|14|15]16 WEBEH] - REREENEE— XK
CEREERECE I S B ENHEEES
18H09:00% ALt S B E S E B (172) 21-22 A ta (I EES - WEREE) | WEREEEMR)
N 19E109:008%7 4 AT EE R 2 (173) 22H18:007£581% - AEREESE
= 20-21HO08:00F T £ EHE(B)
210 ERE R R[]
17 (1811920 (21|22 | 23|[22H08:00% 52
W25-27 FFRE[E] 240BREE
24F38 R B E 26AHHEASTHEA]
25 A IEIELEER S5 7] 2709004 BB & FHEE] - 13308 BT SHE 53[5
2SHATEEEELSE TIE/NVAETEF] - FEASHRA] 28 F09:00 B ANAEFA 2 [8] - SR B M E D K ET AR BR 2 555 5 (8] -
27809004 R B 5 FHR[E] 1330 R TSR E & LIS 13:304 SN SERT B 45
28H09:00 8% 241 AEH 23 ] - YIRS M B ch T B2 BR 2 553 80 [85] - [| 29 B 10:00 K3 F5 &35 ([B16) - 11:00E2 A 5 a5 B2 7 F 0 BB BEF 22 - 11:50
13304 SN AET B 4] ST EAE  12:00 8BRS - 13:30 5 S 22 (B6)[2)
29H08:30 B EE(E2) - 10008 B EE - 11:00055 2%
FIRETISAEF B[] - 12:00R MBHEE - 13:304 B S 2/
2425|2627 /28|29 |30 B (E6) [£]
W I T P o A e 0 e [T 01A 1630V BB EHRE T MEE - 180052 - EHIE - 18:500 &
vl Wl S —S B EIEPEE SEM - B SEEUAAREIRR - SEE - METASRY - 20:30IF T iR
OlREESME  ASETBEEBTE[ME] 08108 EE .
B © 09:00RIEBELIEEEM4EE - FFEHBEDE - 16208 20314
31|12 |3|4|5|6|03-05E5=ms0 32

a0 1A BURE - A REREBESEITEN LR - 2.0 - HEMERE - @EEBEER - 3.0 : #E - BEE
6.0 R - BRI 35 - 7. BETE - 8.()MhE  IT3(FTHAIE3E) - B4(BIEE4E)  TEZE(E)  HE(E)

EISEE - [MIEWNHE  [(L151FH -

it BIBEE-4¢  (LE)EE - 5.4 | REREE -
E2515(E) - 9.[[ERE[AIAS - [R]85 - [8]

X114 BFEERHARAEEE - HR 8 H 25-27 HLEF 09 BE 12 ISR EREACGEEE 8 B 25-27 HIRME 18 5= 21 KEIEEEHEA)MHERE -

XOIXEE - D% - RERESEERE

BEERESBBESITEEN -



